Glaser-Dirks Flugzeugbay GmbM i
ImSc.‘mﬂMpmw%.HgoBmchsd‘l Technical note Page ! from 1
Talotan 07257/89-0, Tolex 7822410 GLIG - - No. 826/27
LBA anarkannter Harstellungsbetriab 18 25

LBA ansrianntar Luffahritschnischer iotriah [1A 279

SUBJECT : Power plant - ignition unit

EFFECTIVITY : DG-400 serial no. 4-1 up to 4-285

ACCOMPLISHMENT : in case of exchanging electronic ignition
boxes

REASON : The Bosch electronic boxes used so far with

the Rotax 505 engine are no longer available.
If exchanging an electronic box is necessary,
the powerplant must be modified to Ducati
electronic boxes.

INSTRUCTIQNS : 1. Execution of Rotax technical bulletin
505-06 and installation of the electronic
boxes and of the propellerbrake according
to working instruction no. 1 for TN 826727.

2. Exchange engine manual to "Manual for
ROTAX-engine type 505 configuration with-
out decompressor" 2nd edition January 1992.

3. Before putting the engine into service
after the modification, execute TN 826/26
too.

MATERIAL : Working instruction No. 1 for TN 826/27
Manual for ROTAX-engine type 505 configuration
without decompressor" 2nd edition January 1992

Material see list in working instruction no. 1

WEIGHT AND
BALANCE : negligible
REMARKS : Instructions are to be executed by the

manufacturer or by a licensed workshop and
to be inspected and entered in the aircraft
logs by a licensed inspector.

Bruchsal 4, August 20, 1992 LBA - approved:
The German original of this TN has
ay been approved by the LBA under the
i date ofgg.- Sep. 189%nd is signed by
Author: W. Dirks Mr. Fendt. The translation into Eng-
lish has been done by best knowledge
and Jjugdement. In any case of doubt

the German original is authoritative
. /am?z.
Type certificiAtion inspector:

A. Lange



Glaser-Dirks Flugzeugbau GmbH

iro Schollengartan 19-20, 7620 Bruchsatd ~ WORKING INSTRUCTION No. 1
for TN 826/27

' Telefon 07257/89-0, Talex 7822410 GLOG
- LBA anerkannier Herstellungsbetriab 18 25
LEBA aneriannier Lufifatitiechnischer Solriab /1A 273

Page 1 of 2

Modification of the powerplant - ignition unit to Ducati

electronic boxes

1. Remove electroniec boxes, mounting plate for boxes U4M9, pro-
peller brake lever 4M16 and the securing plates for the spark

plugs U4M34.

Caution: When removing the securing plates hold the cylinder-
head nuts with a flat special spanner W33.
Pull off the spark plug connectors and remove the spark plugs.

Note: The electronic boxes with ignition (high voltage) wires
and spark plug connectors, the securing plates 4M34, the spark
plugs and the securing plates for the plugs at the ignition
boxes 4M33 will not be used any more.

2. Modify the ignition unit according to ROTAX technical bulletin

505-06.

The ignition (high voltage) wires must have the following length
see also drawing 4MT77. If necessary shorten the wires after re-
moving the spark plug connectors.

spark plug
1

336
2 336
3 375
4 315

length of wire (mm/in.}

cylinder
13.2 front
13.2 "
4.8 aft
12.4 n

3. Modify the lower mounting plate of the engine UM7 in the region
of the spark plug connector according to the sketch below. It is
not necessary to paint this region after modification.

aflt

20

old

Ansictt
vou upfen

View {rom
below
mosi [icel

/‘__‘_./-\.-—_-\/

To execute this work the engine should be removed from the plate
4YM7 and rotated 90° to the front.
Please refer to sect. 4.12 of the DG-400 maintenance manual for

this work.

Protect the spindle drive against dirt.



WI 826/27

Glaser-Dirks Flugzeugbau GmbH
Postfach 4120 PLZ D-78825
Tel. 07257 789-0 Fax 8822

D768 B eD. ombach WORKING INSTRUCTION No. 1 Page 2 of 2
AT L - for TN 826/27

4, Alternative A

a) Modify mounting plate UM9 according to drawing UM9 change e
issued March 371., 1992.

b} Modify propeller brake according to drawing 4M75

Alternative B
Use a new mounting plate UM72 for the electronic boxes and the

propeller brake. Use new brake lever UM74/1 with bushes UM7U/2
and 3.

. Mount the electronic boxes and the propeller brake according to

drawing U4MT1.

Install the wiring according to drawing 4M77 and 4MT78.
Caution: The ty-raps (4.8 x 186) marked with "a" in drawing

02

UM78 are securing the U plug connectors of the electronic boxes.

The ty-raps must be tightened by hand as tight as possible, so
that pulling apart of the connectors is prevented.

Then fix the wiring with the other ty-raps.

Secure the ignition (high voltage) wiring at the 2. and 4.
cylinder head nut with bolts U4M76 and ty-raps according to
drawings 4MT1 and 4MT78.

Note: Don't secure the bolts 4M76 with Loctite.
Only secure with counternuts M8 DIN 936-8 zn.

The installation of the Ducatiboxes increases the dimensions of
the unit a little.

Check if during retraction the electronic boxes will interfer
with the holder of the bowdencable 4R 38/1. If this happens,
move the holder appr. 25 mm further ocuthoard.

Please refer to maintenance manual DG-400 section 1.9.10. for
tightening torques and securing methods.

Necesary material
Alternative A and B:

1 piece retrofit kit Rotax 965679 2 " M8 DIN 936 - 8 zn

10 UM 73 2 " M6 x 35 DIN 912 - 8.8 zn
T UM 7473 b " 6.4 DIN 125 St zn

2" UM 76 2 " M6 DIN 985 - 8 zn

3o distance nut M8 x U9 2 n Ty-raps 3,6 x 140

2 4,3 DIN 9021 St zn 7 " Ty-raps 4,8 x 186

2" M4 x 16 DIN 933 - 8.8 zn

additional for Alternative A: additional for Alternative B:
1 piece UM 75/1 1 piece UM 72

1 n 4M 75/2 1 " UM 78/

1 n M4 x 10 DIN 933 - 8.8 zn 1 n UM 7U4/2

17 4,3 DIN 9021 St zn

1 " M4 DIN 985 - 8 zn

Enclosures: drawings U4M9, UM71, 4MT75, UM77, UMT8

Bruchsal Y4, 27.08.1992 / 24.09.1993

Author: W. Dirks “/'595&2:;

Type certifiation inspector: A. Lange AQ. ;é;quuL



Flugzeugbau GmbH

7520 Bruchsal 4

im Schollengarten 19-20

Glaser-Dirks

h voltage) mres-L+M77

19

tion (h

Ty

S |W K nast
Installation of the

L3

igni

" (Ducati electronic boxes)

Ger.

Gapr,

Nerm.
Malsiak

Male ohne
Teleranz-

Tag

Si¢€ 4
GLE £
wy xo'e d smp gte 4
oy x9g a8 9¢g |
(ug) 1 ﬂumﬂmﬁ_ BITM S241Mm UoIlTubl JO yjzbueg
)
(=)
o 8LAY burmexp
295 S8X0( DHIuoIjosls
a2y} Ylesurspun
y  UoIjRiIBISUT
. - O ’
T
_
[ i
1 b e e gy e ’
& 1
| =
1 .
1 1 o
_ H
- X <
T —= " | S .,//
— 3—.:@.& d.&\r..._- e T T T e o mw M2TA 238
) EBnid yieds  Sexoq 9TUOI}oe(e 2Yj B S3ATM 8Y} JO UOTIB[[BISUL
2} SPpJIEMO] ¥ MaT14a _

Ausg.| Andemrg | AM




view from the rear

rear electronic box
!

front electronic box

Bl D —

i -
!_.L.——-f \\ I \"\....._._r-g
I I
-! -_— . - — x_\ - H
1
. N q S - . . I

LT

] — mpnen SNRICERLE
A
1 ' N

Ty-rap 4.8x186
around leaft lower|

<§owards engine/ignition unit

distance nut gk\-_\
-
5 A |
Iy
K]
2 T
| 5 .
wire|marking colour i =
1 DI | |white/ved 1LY 1oS
2 - blgck ‘ .
2 E==1 |white/red _ Ty-rap 4.8x186 underneath
red ' front electronic box
5 brown Q
6 red :
7 brown 5
8 black =3 F 8§ 9. 1
Ag white ’
a: hf-RﬂP‘h&X1gﬁ
Toy | Name Glaser-Dirks
Ger. 1470w, Wiwast Flugzeugbau GmbH
Gupr, 7520 Bruchsol 4
Nerm, Im Schollengorten 19-20
Installation of the wiring pfhed
Mals shne f )
awsl (Ducati electronic boxes) |
Ausg. §  Andemung A1 Teg | Heme




My 10 Diw537-
N\&&an
secured with

Loctite 72b

4.3 DINIO2Y S zn

4MTE /1

s b

‘upper end opened appr. Zmmm;.

lever

spring_12x3x 16

1 -2, secured Witthoctite 72b.

-5 tru

additional parts

amount

-

T

Te il 1

3 dicke C

4M75/1
4M75/2

A5

=

M4 DIN 985-

Toleranzen nach Arbeitsanwelsung BA 1

Schweiien nach Arbseitsanweisung SA 1

1

1

1

1

3 4.3 DIN 902
1

1 4M74/3

1

Oberflicnenschutz: cadwis, ¢ chroma (ise ! .

removed

M4x10 DIN 933-8.8 zn
M4x16 DIN 933-8.8 zn

1 8t zn
8 zn

4M9 modified to change e
(modification of the

Warkstolf:  1.17 79, 4. - - existing part)
eder 1.95T1T xtocCed: He Ti 1810 K120
<
% )
l Toleranzen nach Arbeftsanwalsung BA - k|
3, Schweilen nach Arbeitsanweisung SA 1 :
Oberfiiichenschutz: /
Werkstoff: Cu Zuw 37 F45
Top Nams .

- - Glaser-Dirks
::, 2 Dirics Flugzeugbau GmbH
Novm 7520 Bruchaal 4

- im Schollengorien 19-20

Mudrink R . .

o Modification of the Bg
e propellerbrake

slorenz- ———
g, revh: . L ‘l' 75

= for Ducati electronic boyes—2

Moy | Ancenury AM | Tog | Neme




ME 7 \ L r L
| / Q 3
Al
,;l
N
Lzar/ % ’ / N\ \
g | /= (C\L
. MY
F ¢ T80T/ \
) 'Q 20\
hivaswiroar
% -
77 1 -
{4
N W /
) S '
. -/
l NI S | ﬁﬁ/i
i— ® AT @./Tj ’ N\
| o IS y ¥ K—‘ '
-.,.-____‘ y_ ___,‘
5[5 -
» CiR(e) -
7
Q—A— Tolerenzen nach Arbeiitsanwelsurg BA i
- - Schwelfien nach .Arbeltsanweisung SA 1
Oberflichenschitz: elowrar ¥
Werkstoff: 4{ {w My T.F40
Toy Nome Glaser-Dirks
1.3.20W- D7 ris Flugzeugbau GmbH
7520 Bruchsal 4

Im Schellengarten 19-20

2;1??

Mounting plate for
electronic boxes and

€ neugezel diwd]

Mudy siwe
Tolorama

e [ AT e |3 73,920 Diry

{og) ooy

A

Ty

Name

-ipropellerbrake

V-7

419

modification to Ducati hoxes




-

J

Note: When modifying older
DG-400 from Bosch toDucati
boxes it iz possible to modify
the propellerbrake according
to drawing 4M75 and part 4M9
according to drawing4M9

change e issued 31.3.92.

2-37T 6x1 < )

MEx 10 DI 342 -8 Fznm

24 4

74 A

\\\\ 4

HME SSM@;#“;’“E' "

/

5 31-R8zu
: shortened to 32 mm

LM

_Jﬁ
M4e16 DI#333-88zn SECUred with |
Loctite 72b :
4.3DI£.ZQ21,5745 - C A ” Iq ) MAE/2 ™
smnesr2 /) L B L 2xxdd
’ 973882
ecured with Toctitew 5 M2
- - me =9.824 secure
x20 Di¥ 7931- 5. Awith Toctite 7
secured with Joctite 72b
4472 M
| O
- £ DI 128 3t 2m
\ | Méx 35D 002
BADIH 125 SF 2e §-8an
M8y 2014 303 ﬁ
secured with Locllite T4 ER—
4 £ - “
§x20/20
o
— _\
_ . | distance nutMsx49 (Rotac 847 700) 2 m
» (]
£~ <1 N ignition (high voltage) wires I Hame Glaser-Dirks
YTY-rap 3.6 = 140 = 3402 . Divit Flugzeugbau GmbH
- all 7520 Bruchsal %
‘ Norm Im Schollengarten 19-20
secure the ignition wires to 2. and 4. e Assembly
cylinderhead nut from the front 4:1 ,
‘ Electronicboxes and
. . - Made ohna
see also drawings 4M77 and 4M78 wer | DTOPEllerbrake oM T4
el T Tl ol | (Ducat] electronic boxes) J




